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Phys 221 (Section 6)
Quiz #3

1. A 3.0-kg block is released from point A on the track
ABC shown here, which is frictionless except for a sec-
tion of length 0.6 m which has coefficient of kinetic friction
jtg = 0.3 on the level part of it. Its initial vertical height is
0.7 m. At the end of this track is a spring of lorce constant
k= 25008

a) What is the speed of the mass when it gets to point B
(just past the rough section)?
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b) When the mass comes to rest momentarily as it com-
presses the spring, by what length = is the spring com-
pressed?
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¢) Under the action of the spring, the mass is then pro-
jected back over the rough surface and up the slope. What
is the maximum height attained by the mass on its return?
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2. A mass moving in one dimension is acted on by the e

force Fe plotted here versus time. What is the change in
momentum of the mass between { = 1 s and { = 6 87 What
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is the average foree for that time interval?
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